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Available During F % b5t [7]

Duration B

Score Z3H.

Individual Round 1 (GMT+8) 10:30-11:10 30 min 200 points
PN 15 JE3E H] 10:30-11:10 30 7 f 200 4y
Individual Round 2 (GMT+8) 13:30-14:45 60 min 400 points
MNE 25 AL ETH (] 13:30-14:45 60 7)ot 400 47
Individual Round 3 (GMT+8) 15:00-16:15 60 min 400 points
MNEE 35 AL ETH (] 15:00-16:15 60 7)ot 400 47

*Take individual round 1 as an example: this round will go live at 10:30(GMT+8) and close at
11:10(GMT+8). Once you click “Start” button, you’ll have 30 minutes to complete it. You can start at
any time between 10:30 and 11:10, but if you start later than 10:40, the round will close at 11:10
automatically, giving you fewer than 30 minutes to finish.
*PUSS 1 5091, 10:40 2 JGiE TR A6 EE, (HRGKAE 11:10 HAE RIS, SECLRE
AR RIS [A] JCiE IR 2] 30 3P . FH I B it 2k FH Ik A N 7



http://puzzlerace.org/

General Answer Format/ZRIETH A

Each Sudoku has two marked rows or

»(Q ™

columns. You need to submit all digits in 9917

the corresponding directions, from left to

right or from top to bottom.
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In the example, the two answer keys are:
FEIXITEG R, P 77 E AR A B N

N (o (0)
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w

A: 964158327

B: 692847135 9 (4 5|28

Scoring and Bonus/43ME N4y

-Points will be awarded only when both the 2 answer keys of a puzzle are correct.
There will be no partial points.

A IEE R H PR E AT I IR AS R, 2 AT A 8 o H I AF )
-The bonus points for each round will be awarded to any competitor who correctly
submits all the answer keys in the round.

FERFREA NFE T, AR H B SIS B BIE T A Re SR A ZAe B0 4
-In each round, the bonus will be 6 points for each full remaining minute and then 0.1
point for each extra second.

“RRACHEAR, ERES IR IR TR AT 1 0BRSS in 6 g3, AN 1 43 B
SRR 0.1 7.

-All the examples in the instruction booklet were made by the organizing team. They
cannot be commercially used. All rights have been reserved.
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015 Round 1- 200 Points, 30 Minutes/35 1 ¥-200 43, 30 4%}

1-8. Classic Sudoku FRAEEIE
Place a digit from 1 to 9 into each of the empty cells, so that each digit appears
exactly once in each row, column and outlined 3x3 block.

Kooy 1-9 MAEMN, 8T FIIMEE N IIAEL,

2 6/ 5 2|9 413|786 1|5
711 53 7(116/2]9 84

6 9 3 68 1[4/9/5]7 3|2
5 4| |6 9172|5841 6|3

6 38 114 6(7/2/3|8 5|9

5 |9 |6 85 3[911/6[4 27
2 3 1 412 816375 91
9|2 311 5|8|/4|9(2 7|6

7 19 3 716 9|25 1[3 48
015 Round 2- 400 Points, 60 Minutes/3f 1 ¥-400 43, 60 734}

1.Diagonal Sudoku X7 £
Apply Classic Sudoku rules. On both marked diagonals, each digit must appear exactly
once.

Ry 1-9 AN, AT, 85 BEMMRN AN HIAEL,

o 19 6| 4 5 2|98 06|74
9 11 (2,8 9 %4|513|26 8
6 \[7 86 17 24[359
2 6 4 219583769 4
3 3 48 76 91|53 2
6 9 / 639|24%5|817
O 7 1128136 9|47 5
7,16] 5 3 / A 6158|923

9 14 2] 8 931472118




2. XV Sudoku VXFJ

Apply Classic Sudoku rules. Adjacent cells with digits summing to 5 are marked by V,
while those summing to10 are marked by X. All possible V and X are marked.

BT 1-9HNERN, 61T, BHEE NN ES . FSVHEN
B 2 FNS, R XIS N 2 AI2N10, A RF5 VXEIAE AR PR P 3 2 i
ANEEAS5HIL0,

8 7x | x1 8524 7x3 g 9x1
X3 X | 8X 7x31915 1 6%x4 8x2
X X X 4x6|1]2x8 9|7x3 5
KT TV g¥§87x3v2159
2 1 6| |[2/1/3]9 45|87
T el v T _975128302
) ) 1223579%}8
9 x e 13]9/4]8%x2 115 |
5 9 3] [5/8/7](6 9 4[2 1

3. 0dd Even Sudoku ZEF{BEH

Apply Classic Sudoku rules. Cells with shaded circles contain odd digits. Cells with
shaded squares contain even digits.

BEF 19NN, AT, YRS ENRTFIIAEE . KER BN
N2 NG O S Ee a BRY 2 N

6 1123 86/4|7 5]1[2|]3]9

3 1 4156 317(92/4|5 6|8
9092|3687 4 1

2 18/9(6 40|37 2

4@\5|9 312|198 6

6 6238 79[415
/38|99 6[124

41|2 97 5412 8/3|6 9|7
9614 S 2961417853




4.Consecutive Sudoku ZELL¥HH

Apply Classic Sudoku rules. In all cases where two neighbouring digits are consecutive,
this is indicated with a grey bar.

BEF 19NN, T, BYREENREEIAER . IKEH LN
WNETFZ Z N, A RO LA & N7 2 Z AR L.

4 8 115[4]6]3]2[9]8]7

9 612 78|19 51 34

3 4 2 0l8 3|17 4|52 6

3 1| [3]4]5]216 9[8[7]1
4 |7 8|9 6|41 7[2 53

7 9| [7.112]358]6 4|9
7115 3 417 1|5/8 6|3 92
2 53 9|7/2|1/4 6|8

6 7 26 8|94|3[7.1/5

5.Anti Knight Sudoku J&E5 %M

Apply Classic Sudoku rules. Cells that can be reached by a knight step (chess) cannot
contain the same digit.

BT 1-9ENTRE N, 8T BYIAEEE N FIIAES . I R E br
G Db A7 RPN AN BESE AR [ 2

2 49| 8 627|549|38 1
1 /7 9 18536 2|749
4 1 7 349[187]265
S5 |6 1 596(27 4138
8 4 8 72|63 11594
1 6 7 431895|627

4 6| 7 913/456|87 2

2 4 3 264718953
5| 192 1 /58923416




6.Windoku & H#0#
Apply Classic Sudoku rules. Within each coloured region, each digit must appear
exactly once.

RECr -9, BT B8 BEE YA IR A B T A

—

4 9| |6
6| 2| |8] |4
4 |5 2
2 g 3
6 /
3. 4
3 9l 9
bl 91 15 |2
2 |1 13

7.Ratio Sudoku EG45 ¥

Apply Classic Sudoku rules. Each number between adjacent cells is the ratio of the

digits in those two cells.
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8. Arrow Sudoku FikEp

Apply Classic Sudoku rules. Digits placed in a cell with a circle must be the sum of the
digits placed in cells the adjoining arrow passes through. Digits may repeat on
arrows.

KB T 1-9BNEREN, R8T, SIS E NI ES . BB NET
NIZF R A 2 M

3 5| 7 |4 312/5|17 8[(46(9
4( )9 "3 714619 2 3(8 5 1
9 S / 9414 8l456[(327
3 9 83|76 A|12/9 4
10)2] 3] [6()8 1925 3 4(6(/)8
/ 3 67428913
2 9 3 264189 0|7 43
3 /12( )8 45 7|13 42(98|6
9] 4 15 2 81391647512

9.Palindrome Sudoku [B] SCE

Apply Classic Sudoku rules. Apply Classic Sudoku rules. The digits on the grey lines
form a palindromic sequence from one end to the other.

YR F 19NN, 847, BHMEENIRTUAEE . BEKENE
JFE T L ERT R A PN B8 A [

6| 1] |7 4 6/5/112(7(3]9|8 4

8 19|\5 412,7(8|6|9[1 5|3

9 / 98 8514/ 1|2 6/7
3 4 7131216]8|5]4|9

8 9 S 8 4192 S

4\ 2 914[8/1|%]6 28

3 6 314/9|7(2|8]|5]/1/6

71N\9 |6 11715]9|3/6]|8]4 |2

2 5 131 19 2 68]1/91413. 719




Apply Classic Sudoku rules. The digits placed in each marked cage must sum to the

total given in its top-left.Digits must not repeat in cages.

R 1- 9N TR, EREAT

10.Killer Sudoku ZFF-Hjh
M SAE N BT A e 2 A

KE ZAE Y 3755

BEYIAEEE NI ER .

[7 R A PN AN RESE AT [R] B 507

015 Round 3- 400 Points, 60 Minutes/38 1 ¥-400 4}, 60 73-%F
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Apply Classic Sudoku rules. Apply Classic Sudoku rules. Digits have to be place in

accordance with the “greater than” signs.

R 1- 9N TR, ERRAT

1.Greater Than Sudoku

RETH R

NEIB I A E L

=
=

S|P IES

KR

/N

FHIR

4% A £

ZNAHIL

®

o<t |00 cofeni—I~
LO| N 00|\ 0| [<F ©
|||~ o <t || o
00| N[O O[O ~—
— 0| o|eri-ON|co |~ 0
< |0/~ |o]o i o
N |cO| (<t o[ N o
© M | Lo~ |0 <t
O <HLO|0| N | (o™
0%: O O
N~ (o >
™ | <t|oN|
I N
A o2 I
A = }
\/ Nl 4
VTV o 0
< |0 N |




2.Kropki Sudoku E A =¥

Apply Classic Sudoku rules. A white circle between two cells indicates that the
neighbouring digits are consecutive. A black circle between two cells indicates that
one of the digits is twice as big as the other digit. The absence of a circle indicates
that there is no neighbouring digit that is either consecutive or double.

BEF 19NN, T, BHIREE NS EIIAER . RS m
Br N R AR, HREMWNE AR Z 81, A R E R R N e A
R H I R AP OC R .

! ! 5'4:8(3:6/1(712 9

. 173129418 56
296875431

. . 857932164
! ! 4+2:1|7/5:613/9 8
! 3:6 9/4 18|57 2
. 1 9:8 2|5/4:316|1 7

t . 6:3:4(1,2/7|9:8 5
{ ? ? 7 15'689(2:4°3

3. X-Sum Sudoku XA Sk

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the first X digits
placed in the corresponding direction, where X is equal to the first digit placed in that
direction.

BECF1-9BNTREN, FRAT. BHNEENRERTFIIAELR ., SmIMERE

TN HXT AT B HTXAS WU 2 F, XIHUE 98— N 27

20 42 19 13 45 32 35 6 1 20 42 19 13 45 32 35 6 1
29 1 2915|8413 97|62 1|
9 45 912|768 1/5|3 4 9|45
13 30 1313/9/112/4/6|7 8 5|30
1 40 1114 8|16/ 3/2[(9 57|40
45 28 4519 5 3[4 7/8|2 16|28
30 16 306279 5/1[8 3 4|
43 9 431811/9(5 6|3(4 7|2]|¢
33 17 3|76 2|1 84|15 93|17
19 41 19143 /5(7 2/9]|1 6]|8]41

25 10 26 34 10 45 1 31 44 25 10 26 34 10 45 1 31 44



4. Quadruple Sudoku &R R~EM

Apply Classic Sudoku rules. Each set of four digits in the intersection of two lines

indicates the digits that have to be placed in the four adjacent cells.

R 19N TR, ERAT. B E AN T IAER .. N
o J B DU A T & B, SO IR 50 2K
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5.Renban Sudoku ZEZEEE
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Apply Classic Sudoku rules. Every marked cage contains a set of consecutive digits in
arbitrary order.
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6.Between 1 and 9 Sudoku 19 [B]) # 7
Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the digits that
have to be placed between the digits 1 and 9 in the respective row or column.
WP 9NN, ERAT. "R E NN ES .. fimsMErE
FoRX NATHI N B Aoz [ e By 2 .

1
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Ols

23 0 8 10 7 30 18 5 19

7.Search 9 Sudoku 9%
Apply Classic Sudoku rules. Each arrow is pointing in the direction of the digit 9 in the
respective row or column,where the digit in the cell with the arrow indicates the
distance (with respect to the number of cells) from the arrow to the 9.
BT 1-9ENTRE N, RAT BYIARE N FIIAES . SN &Sk
TR 7 ) R HT9,  Hi Sk A EC U BUE iz S Sk B BT [ 9 BRI
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294635178
63 7/5/842(4/9!1




8.Skyscrapers Sudoku JBEREEEU

Apply Classic Sudoku rules. Each digit represents a skyscraper oft he given height.
Clues outside the grid indicate the number of visible skyscrapers from that direction.
Higher skyscrapers block the view of lower skyscrapers.

KB T 19BN, 81T, SIS E NN HAER . RINETER
ANANTE] v B A 57 BT AN s BOR R iz T [ AT UOSR BIRE B A8, R
HE D o A0 HL 5 0 R 2 R R o A W I P AL 2

323337313 323337313
3 9 |2 313/8 7|6/2|/115 9/4]|2
2 4 3 115 2129 4|8/5|3|7 6|1]5
3 91 9 |3 3 36|95 1|7(9/4|3 8|23
1 5| |7 |2 11916/2|1/3|5|4 7|8]2
3 3 9 2 314/3 8|2|7/6|9 1|5]2
21 1 9 4 2|7/15|9/4/ 8|6 2/3]4
2 9] 1 213 |3 2(8/4 9|5|1|7]|2 3|6(3
411 4 8 1 41117 3|14/6(2|8/5/9]1
41 2 2 41512 6|3/8/9]|1 4|7]2
332421352 332421352

9.Counting Neighbours Sudoku 355 %k

Apply Classic Sudoku rules. A digit in a cell with a circle indicates the number of
different digits in all horizontal, vertical or diagonal neighbouring cells. A digit in a cell
with a cross indicates the number of different digits in all diagonal neighbouring cells.
All possible circles and crosses are given.

BT 1-9ENTRE N, 8T WY E N R IIAE S . BT P 15 R A
N B2 H R LS WA LA AR U, 7R Hoot A fida o) ) DY A%
AIVNAFE T A 8 KBRS R R T IPREH T/,

OX O '8 @ Z|9|7/1 686|648
O 5 6/®|4(2/53|9|7 1
Ol 1119 X O ® 7/1|19 X 8|2|® 3
O] 3 O @ 1(3|8/9/5(@D|2 6
5 6 3 8 52|14 6/7]|1/39
O 8 O 9®|7]|1/3 2(8/5@
X O 1[4 2/3/5[®8[14&]97
XOl 7 [XOX 1 4®|5/7/9Z8|®X
7 X 79|83 X/4[6[1/5




10.Consecutive Clone Sudoku 5% &S50

Apply Classic Sudoku rules. Digits in each corresponding cell in both shaded figures
are consecutive.

BT 19 AT, fEifpfT. B MEE NETFIIAERESE . S AR
o XS oA [F AL B S N 2 2N 1.

3 24 |9 368247915
6 8 2 15|6 89|374

6] 497315286

8 7 8 74|59 2|16 3
6 2 3 58| [629[134(/58
29 1538 76{429

9 931758|64 2
6 3 718 2(46 399 1

6] 21 / 946921837




